2 _xy
—4x
®




2.

(=3x + 2y)(3x + 2y) — (5x + 2y)(5x — 2y) & ZtHo] SFH?

O -15x% + 8y? @ -15x2 + 16y?
@—34)62 + 8y? ® -34x% + 16y?

=(30)% + (29)? - {(52)* + (-2)*}
= —9x2 + 4y? — 25x2 + 4y?
= —34x% + 8y?




3.

A=3a-2b,B=2a-5b AW, -3A-BSa%bo] Bt AO=
Lretiof 2t

> E:

> M —lla+ 11b

-3A-B = _3(3a _ Zb) _ (20 _ 5b)
= —9a + 6b — 2a + 5b
=—1la+ 116




4. 3y-[2x- {3x+4y— (5y—x)}] £ 7tt3] sledgt,

(FA) =3y—{2x- (Bx+4y-5y+x)}
=3y {2x- (4x-y)}
=3y - (-2x+y)
=2x+2y




gx(2x —4y) = 5x(x —y) § 7Fto] shH?

(@)—2x2 —xy @ —2x? - 11xy ® 8x% + 1lxy

@ 8x% - xy ® x%+xy

B

gx(Zx _ dy) = 5x(x—y)

= 3x% — 6xy — 5x? + Hxy
= -2x2 — xy




D 2012 - (a-b)?

@ 499° — (a+b)?

® 9972 — (a+b)(a—b)

@ 103x97 — (ax+b)(cx +d)
@104x105 - (x+a)(x+b)

B

@ 2012 = (200 + 1)2 = (a + b)?

@ 4992 = (500 — 1)2 = (a — b)?

® 9972 = (1000 — 3)2 = (a — b)?

@ 103 x 97 = (100 + 3)(100 — 3) = (a + b)(a — b)




3x—4y+2
5
of et A o= yehfH?

7. A=2x+5y,B= A, 24-{2B-(A-3B)} Ex.y

@© 3x+19y+2 @ -3x-19y-2 @3x+19y—2

@ 3x-19y+2 ® -3x+19y-2

B ~
2A-{2B-(A-3B)}
= 2A - (2B— A+ 3B)

— 94— (-A + 5B)
—3A-5B

—dy+2
23(2x+5y)—5(3x++>

=6x+ 15y —3x+4y -2
=3x+19y -2




